

HASAN ÖĞÜNMEZ AND ÖZKAN ÖCALAN

OSCILLATION OF DIFFERENCE EQUATIONS WITH SEVERAL POSITIVE AND NEGATIVE COEFFICIENTS

ABSTRACT. Our aim in this paper is to obtain sufficient conditions for the oscillation of every solution of first order difference equations

$$x_{n+1} - x_n + \sum_{i=1}^m (p_i x_{n-k_i} - q_i x_{n-l_i}) = 0, \quad n = 0, 1, 2, \dots$$

and

$$x_{n+1} - x_n + \sum_{i=1}^m (p_i x_{n+k_i} - q_i x_{n+l_i}) = 0, \quad n = 0, 1, 2, \dots$$

where $p_i, q_i \in \mathbb{R}^+$ and $k_i, l_i \in \mathbb{N}$ for $i = 1, 2, \dots, m$.

KEY WORDS: difference equation, oscillation.

AMS Mathematics Subject Classification: 39A10.

1. Introduction

Consider the first order delay difference equation

$$(1) \quad x_{n+1} - x_n + \sum_{i=1}^m (p_i x_{n-k_i} - q_i x_{n-l_i}) = 0, \quad n = 0, 1, 2, \dots$$

and first order advanced difference equation

$$(2) \quad x_{n+1} - x_n + \sum_{i=1}^m (p_i x_{n+k_i} - q_i x_{n+l_i}) = 0, \quad n = 0, 1, 2, \dots$$

where $p_i, q_i \in \mathbb{R}^+$ and $k_i, l_i \in \mathbb{N}$ for $i = 1, 2, \dots, m$.

Recently there has been a lot of studies concerning the behavior of oscillatory of differential and difference equations, see [1 – 15] and references cited therein. Ladas [9] only considered the case of which $q_i = 0$ ($i = 1, 2, \dots, m$)

for equation (1). Furthermore, Ladas [10] (see also [4]) examined the oscillatory behavior of equation (1) in the case $m = 1$. Many authors have studied the oscillatory behavior of the some differential and difference equations with positive and negative coefficients (see, for instance [3, 11-15]). All these papers need the following condition in their main results;

$$(3) \quad q(k-l) \equiv 1.$$

In this paper, we obtain sufficient conditions for the oscillation of all solutions of the equations (1) and (2) which do not require condition (3).

Let $z = \max\{k_i, l_i\}$ for $i = 1, 2, \dots, m$. By a solution of the equation (1) we mean a sequence $\{x_n\}$ which is defined $n \geq -z$ and which satisfies equation (1) for $n \geq 0$. A solution $\{x_n\}$ of equation (1) is said to be oscillatory if the terms x_n of the sequence $\{x_n\}$ are neither eventually positive nor eventually negative. Otherwise, the solution is called nonoscillatory.

2. Auxiliary lemmas

We need the following results, which proved in [4] (see also [5]).

Lemma 1. *We consider the following difference equation*

$$(4) \quad x_{n+1} - x_n + \sum_{i=1}^m p_i x_{n-k_i} = 0, \quad n = 0, 1, 2, \dots$$

Suppose that either

$$(5) \quad p_i \in (0, \infty) \text{ and } k_i \in \{0, 1, 2, \dots\} \text{ for } i = 1, 2, \dots, m.$$

or

$$(6) \quad p_i \in (-\infty, 0) \text{ and } k_i \in \{\dots, -2, -1\} \text{ for } i = 1, 2, \dots, m.$$

Assume that either (5) or (6) holds and suppose that

$$\sum_{i=1}^m p_i \frac{(k_i + 1)^{k_i+1}}{k_i^{k_i}} > 1.$$

Then every solution of equation (4) oscillates.

Lemma 2. *Assume that*

$$p_i \in (0, \infty) \text{ and } k_i \in \mathbb{N} \text{ for } i = 1, 2, \dots, m.$$

Then the following statements are true.

a) *The difference inequality*

$$x_{n+1} - x_n + \sum_{i=1}^m p_i x_{n-k_i} \leq 0, \quad n = 0, 1, 2, \dots$$

has an eventually positive solution if and only if the difference equation

$$y_{n+1} - y_n + \sum_{i=1}^m p_i y_{n-k_i} = 0, \quad n = 0, 1, 2, \dots$$

has an eventually positive solution.

b) *The difference inequality*

$$x_{n+1} - x_n - \sum_{i=1}^m p_i x_{n+k_i} \geq 0, \quad n = 0, 1, 2, \dots$$

has an eventually positive solution if and only if the difference equation

$$y_{n+1} - y_n - \sum_{i=1}^m p_i y_{n+k_i} = 0, \quad n = 0, 1, 2, \dots$$

has an eventually positive solution.

3. Sufficient condition for oscillation of (1)

In this section, we obtain sufficient conditions for the oscillation of equations (1) and (2). The conditions will be given in terms of the p_i , q_i and the k_i , l_i for each $i = 1, 2, \dots, m$.

Theorem 1. *Assume that for $i = 1, 2, \dots, m$,*

$$(7) \quad p_i > q_i \geq 0, \quad k_i \geq l_i \geq 0, \quad \sum_{i=1}^m q_i(k_i - l_i) \leq 1$$

and that for $i = 1, 2, \dots, m$,

$$(8) \quad \left. \begin{aligned} \sum_{i=1}^m (p_i - q_i) \frac{(k_i+1)^{k_i+1}}{k_i^{k_i}} &> 1 && \text{if } k_i \geq 0 \\ \sum_{i=1}^m (p_i - q_i) &\geq 1 && \text{if } k_i = 0 \end{aligned} \right\}.$$

Then every solution of equation (1) oscillates.

Proof. The case $k_i = l_i$, $i = 1, 2, \dots, m$ follows from Lemma 1 immediately. We now consider the case $k_i > l_i$ for $i = 1, 2, \dots, m$. For the sake of contradiction, assume that equation (1) has an eventually positive solution $\{x_n\}$. Then there exists $n_0 \in \mathbb{N}$ such that $x_n > 0$ for $n \geq n_0$.

Let

$$(9) \quad c_n = x_n - \sum_{i=1}^m q_i \sum_{j=l_i+1}^{k_i} x_{n-j}, \quad n \geq n_0 + k$$

where $k = \max_{1 \leq i \leq m} \{k_i\}$. Then

$$\begin{aligned} c_{n+1} - c_n &= x_{n+1} - x_n - \left[\sum_{i=1}^m q_i (x_{n-l_i} - x_{n-k_i}) \right] \\ &= \sum_{i=1}^m (q_i - p_i) x_{n-k_i} \end{aligned}$$

and so

$$(10) \quad c_{n+1} - c_n = \sum_{i=1}^m (q_i - p_i) x_{n-k_i} < 0, \quad n \geq n_0 + k.$$

Thus c_n is a decreasing sequence for $n \geq n_0 + k$. We prove that

$$(11) \quad L \cong \lim_{n \rightarrow \infty} c_n \in \mathbb{R}$$

Otherwise, $L = -\infty$ and $\{x_n\}$ must be unbounded. Hence there exists $n_1 \geq n_0 + k$ such that $x_{n_1} = \max\{x_n : n \leq n_1\}$ and $c_{n_1} < 0$. Then

$$0 > c_{n_1} = x_{n_1} - \sum_{i=1}^m q_i \sum_{j=l_i+1}^{k_i} x_{n_1-j} \geq x_{n_1} \left(1 - \sum_{i=1}^m q_i (k_i - l_i) \right) \geq 0,$$

which is a contradiction. Thus (11) holds. By taking limits in (10), it yields that

$$\lim_{n \rightarrow \infty} x_n = 0.$$

Since the sequence $\{c_n\}$ decreases to zero, we obtain

$$(12) \quad c_n > 0 \quad \text{for} \quad n \geq n_0 + k.$$

Also, by (9) we see that $c_n < x_n$ for $n \geq n_0 + k$, so (10) yields the inequality

$$(13) \quad c_{n+1} - c_n + \sum_{i=1}^m (p_i - q_i) c_{n-k_i} < 0 \quad \text{for} \quad n \geq n_0 + 2k$$

But in view of Lemma 1, Lemma 2 and the hypothesis (8), the difference inequality (13) cannot have an eventually positive solution, which contradicts (12) So the proof is completed. ■

The proof of the following result follows from Theorem 1 and using arithmetic-geometric mean inequality.

Corollary 1. *Assume that (7) holds and suppose that for $i = 1, 2, \dots, m$*

$$(14) \quad \left. \begin{aligned} m \left[\prod_{i=1}^m (p_i - q_i) \right]^{\frac{1}{m}} \frac{(k+1)^{k+1}}{k^k} &> 1 \quad \text{if } k_i \geq 0 \\ m \left[\prod_{i=1}^m (p_i - q_i) \right]^{\frac{1}{m}} &\geq 1 \quad \text{if } k_i = 0 \end{aligned} \right\}$$

where $k = \frac{1}{m} \sum_{i=1}^m k_i$.

Then every solution of equation (1) oscillates.

Theorem 2. *Assume that for $i = 1, 2, \dots, m$*

$$(15) \quad 0 \leq p_i < q_i, \quad 0 \leq k_i \leq l_i, \quad \sum_{i=1}^m p_i(l_i - k_i) \leq 1$$

and that for $i = 1, 2, \dots, m$

$$(16) \quad \left. \begin{aligned} \sum_{i=1}^m (q_i - p_i) \frac{(l_i-1)^{l_i-1}}{l_i^{l_i}} &> 1 \quad \text{if } l_i \geq 0 \\ \sum_{i=1}^m (q_i - p_i) &\geq 1 \quad \text{if } l_i = 0 \end{aligned} \right\}.$$

Then every solution of equation (2) oscillates.

Proof. The case $k_i = l_i$ for $i = 1, 2, \dots, m$ follows from Lemma 1 immediately. So suppose $k_i < l_i$ for $i = 1, 2, \dots, m$. For the sake of contradiction, assume that equation (2) has an eventually positive solution $\{x_n\}$. Let

$$(17) \quad c_n = x_n - \sum_{i=1}^m p_i \sum_{j=n+k_i}^{n+l_i-1} x_n.$$

Then

$$(18) \quad \begin{aligned} c_{n+1} - c_n &= x_{n+1} - x_n - \left[\sum_{i=1}^m p_i (x_{n+l_i} - x_{n+k_i}) \right] \\ &= \sum_{i=1}^m (q_i - p_i) x_{n+l_i} > 0. \end{aligned}$$

Thus $\{c_n\}$ is eventually increasing and either

$$(19) \quad \lim_{n \rightarrow \infty} c_n = \infty$$

or

$$(20) \quad \lim_{n \rightarrow \infty} c_n = c \in \mathbb{R}.$$

Assume that (20) holds. Then by (18) and (17) we see that

$$\lim_{n \rightarrow \infty} x_n = 0 = \lim_{n \rightarrow \infty} c_n.$$

Hence there exists an index n such that

$$c_{n_1} < 0 \quad \text{and} \quad x_{n_1} \geq x_n > 0 \quad \text{for } n \geq n_1.$$

Then (17) yields

$$\begin{aligned} 0 > c_{n_1} &= x_{n_1} - \sum_{i=1}^m p_i \sum_{j=n_1+k_i}^{n_1+l_i-1} x_{n_1} \\ &\geq x_{n_1} \left[1 - \sum_{i=1}^m p_i (l_i - k_i) \right] \geq 0, \end{aligned}$$

which is a contradiction. Therefore (19) holds. By (18) and (17) we find

$$c_{n+1} - c_n - \sum_{i=1}^m (p_i - q_i) c_{n+l_i} \geq 0.$$

Also $c_n > 0$. In view of Lemma 2 this implies that the difference equation

$$y_{n+1} - y_n - \sum_{i=1}^m (p_i - q_i) y_{n+l_i} = 0$$

has an eventually positive solution. This contradicts (16) and completes the proof. \blacksquare

The proof of the following result follows from Theorem 2 and using arithmetic-geometric mean inequality.

Corollary 2. *Assume that (16) holds and suppose that for $i = 1, 2, \dots, m$*

$$\left. \begin{aligned} m \left[\prod_{i=1}^m (q_i - p_i) \right]^{\frac{1}{m}} \frac{(l_i-1)^{l_i-1}}{l_i^{l_i}} &> 1 \quad \text{if } l_i \geq 0 \\ m \left[\prod_{i=1}^m (q_i - p_i) \right]^{\frac{1}{m}} &\geq 1 \quad \text{if } l_i = 0 \end{aligned} \right\}.$$

References

- [1] AGARWAL R.P., *Difference Equations and Inequalities*, Marcel Dekker, New York, 1992.
- [2] AGARWAL R.P., GRACE S.R., O'REGAN D., *Oscillation Theory for Difference and Functional Differential Equations*, Kluwer Academic Publishers, London, 2000.
- [3] ELABBASY EL.M., HEGAZI A.S., SAKER S.H., Oscillation of solutions to delay differential equations with positive and negative coefficients, *Electronic Journal of Differential Equations*, 2000(13)(2000), 1-13.
- [4] GYÖRI I., LADAS G., *Oscillation Theory of Delay Differential Equations with Applications*, Clarendon Press, Oxford, 1991.
- [5] GYÖRI I., LADAS G., Linearized oscillations for equations with piecewise constant arguments, *Differential and Integral Equations*, 2(1989), 123-131.
- [6] KURUKLIS S.A., The asymptotic stability of $x_{n+1} - ax_n + bx_{n-k} = 0$, *J. Math. Anal. Appl.*, 188(3)(1994), 719-731.
- [7] LADAS G., QIAN C., Oscillatory behavior of difference equations with positive and negative coefficients, *Matematiche*, 44(2)(1989), 293-309.
- [8] LADAS G., QIAN C., Oscillation in differential equations with positive and negative coefficient, *Canad. Math. Bull.*, 33(4)(1990), 442-451.
- [9] LADAS G., Explicit conditions for the oscillation of difference equations, *J. Math. Anal. Appl.*, 153(1990) 276-287.
- [10] LADAS G., Oscillations of difference equations with positive and negative coefficients, *Rocky Mountain J. Math.*, 20(4)(1990), 1051-1061.
- [11] ÖCALAN Ö., DUMAN O., Oscillation analysis of neutral difference equations with delays, *Chaos, Solitons & Fractals*, 9(1)(2009), 261-270.
- [12] SHEN J.H., DEBNATH L., Oscillations of solutions of neutral difference equations with positive and negative coefficients, *Applied Mathematics Letters*, 14(2001), 775-781.
- [13] TANG X.H., YU J.S., PENG D.H., Oscillation and nonoscillation of neutral difference equations with positive and negative coefficients, *Computers and Mathematics with Applications*, 9(2000), 169-181.
- [14] TIAN C.J., CHENG S.S., Oscillation criteria for delay neutral difference equations with positive and negative coefficients, *Bol. Soc. Parana. Mat.*, 21(1-2)(2003), 19-30.
- [15] ZHANG X., YAN J., Oscillation criteria for first order neutral differential equations with positive and negative coefficients, *Math. Anal. Appl.*, 253(2001), 204-214.

HASAN ÖĞÜNMEZ
AFYON KOCATEPE UNIVERSITY
FACULTY OF SCIENCE AND ARTS
DEPARTMENT OF MATHEMATICS
ANS CAMPUS, 03200, AFYON, TURKEY
e-mail: hogunmez@aku.edu.tr

ÖZKAN ÖCALAN
AFYON KOCATEPE UNIVERSITY
FACULTY OF SCIENCE AND ARTS
DEPARTMENT OF MATHEMATICS
ANS CAMPUS, 03200, AFYON, TURKEY
e-mail: ozkan@aku.edu.tr

Received on 01.07.2012 and, in revised form, on 06.09.2012.